6.2: (Trigonometric Functions of Real Numbers)
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Iftan6 = — g and @ is in the second quadrant, then
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The exact value of 12csc (357") + tan (— 2?”) is equal to
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Which ONE of the following statements is IMPOSSIBLE?

A) cot? 8 —csc? 0 =1

B) tan@ =2
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Iff(x) =

and g(x) = cotx, then
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A) f is an odd function and g is an odd function
B) f is an even function and g is an even function
C) f is an even function and g is an odd function
D) f is an odd function and g is an even function

E) f is an even function and g is neither an odd nor an even function
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Which one of the following is FALSE?

A) f(x) = |x|tan(sin x) is an even function
B) f(x) = |x|cotx — sin x is an odd function
C) f(x) = cscxtanx is an even function

D) f(x) = x2cos xsin® 2x is an odd function

E) f(x) = x3 + secx is neither even nor odd function

Trigonometry
of real
numbers.




f(x) =3+ cosxand g(x) = xsin? x, then

A) f is an even function and g is an odd function.
B) f isan even function and g is an even function.
C) f isan odd function and g is an odd function.

D) f isanodd function and g is an even function.

E) both functions f and g are neither odd nor even functions.
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Which one of the following statements is FALSE?

A) f(x) = sin(cos x) is an odd function

B) If sin® > 0 and cos 8 < 0, then @ is in quadrant 11
C) cscr is undefined

D) logs(cos0) = 0

E) f(x) = xsinx is an even function
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In the figure below, if sina = — %, then the value of t is
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For the angle 6 shown in the adjacent diagram, csc 8 + cot @ is equal to
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Which one of the following statements is FALSE?

(@ Iftan @ = g thensinf = 2 and cos 8 = 3
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(c) f(x) = tan(cos x) is an even function numbers.

(b) f(x) = xsin? x is an odd function

(d) f(x) = log(sinx) is neither even nor odd function

(e) tan?x —sec?x = —1




